il

Cm’

5 7]

Gl: SRS B TAARZ A2 Z W KRG 4 0 R OEEE L o Q% T R .

®ﬁ#?ﬁﬁﬁﬁﬁ%°“ﬁm’ﬁ¢14 B AN 1

P5
1) o= é&a344 9 ®P5® e
(2 ( 3 32)

P5
)
2

(2) %= s2512% 72 (OPOP @1

(3) Eizéa4=%? (DPPOPIOPRY)

P2 w B ARETIAM LI ERL LA S

# 2

he

1) @;?(%)
\ 4
(2) > &9 (Z)

(3) a%;?(ﬂ>

b3 A mﬁi*}ﬂFWiJEW1VKﬁw*wwiﬁﬁ

|
(Ans A% B% c% D% E% F—)

A =@ E. C. .
. .. ..o * ... g, o.
.. e .. ' T3 * .. ¢
E el F. -
» * K 3
.o - o. b T
bl4: SRS R
(1) 1) 123456 * [Wged 4 ™ T HPRpo-t (W (B EoE- 5] flRed) ? (%)
(2) I'}123456 + gy > &7 T HEpo "@ Mt 7 [ - = AFSE Ry gt 1
579 ( Ox1x4x1x2x1 )
6x4
(3) 1'}1,23,45,6 + [l » 1 % Tt BRI Pl W IR > S ARy PR
19 ( 6x1x4x1x2x1 )
6x4
(4) F1 123456 WG 57 Tt IO ST W Ber) - = RS poBe =
39 ( Ox1x4x1x2x1 )
6x4

(5) IJABCDPQRS " [ 4 i * Lt iy [ R 2 ABCD A IOl (A



5

6

|
9 (Cfx%xmx%)

(6) I'JABCDPRQRS " f¥ & i ™ Lt Ui " IR £ ABCD P 12
4 1
( Cl12 XZX4!X€>
YA 78T IR i ™ 0 I BRI A, 2 Budsds T [l s g B
e g 360
1) == eEE?
(= FEE? (57)
@) T e (22
(3) R, L HE 34,5 Ui 2 (22
- | 2x2
) B B 360 360 720
Py T [ Y 220 88 NI E e R R ? (Ans:A B. -
J 77T fﬂﬁﬁ’f [ : Z /”H iF'i B LY (Ans 2x2 2x1 2x1
A. . )

)



